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0.2

UEILA40_LZA4E Y

|
o
[S)

-0.3

-0.4

-0.5

55525552.55! 553.555545554.55! 555.55556
cyclenum
deltad46_12X4eY:cyclenum {run == 6124}
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run:cyclenum {run == 6124}

55525552.555535553.555545554.555555555.55556
cyclenum

segment

o

25

15

05

deltal3_12X4eX:cyclenum {run == 6124}

KT K

55525552.555535553.555545554.555555555.55556
cyclenum

segment:cyclenum {run == 6124}

AL L |
v
H

e
- ......*...............;....... [

55525552.555535553.555545554.555555555.55556
cyclenum




o

usl_1X

-20

-30

-50

usl_1X:cyclenum {run == 6124}
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usr_1X:cyclenum {run == 6124} usr_4aY:cyclenum {run == 6124} usr_4eX:cyclenum {run == 6124}
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usr_coill:cyclenum {run == 6124} usr_coil3:cyclenum {run == 6124} usr_coil4:cyclenum {run == 6124}
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